Couplings Almrpenswpri In %%ads .

Vzduchove pruze

om penzatory razcove po

L Sunehep...... '

|




Tradition / Quality / Reliability _
Tradice / Kvalita / Spolehlivost
Tpaguumna [ Kayecteo / HageXXHoCTb

Reliability and top
quality of our products
conform to international
standards certified by SGS Curych.

Spolehlivost a vysoka kvalita vyrabéné
produkce odpovida mezinarodnim standardim
certifikovanym spolecnosti SGS Curych.

HageXXHOCTb 1 BbICOKME KaueTBO BbIMyCKaeMoMn
NpoAyKUUN COOTBETCTBYET EXKAYHAPOAHbIM
cTaHpaTam, cepTuduUnpoBaHHbIM
obwecreom SGS Curych.

W (‘.ERTIF/‘, W CERTIF/‘. CERTIE,
& 27 & 27 =< <R

S 2 ) Q2 &y 2%
@ 73 77
¢0 00 %0
D 2 A

7 SGS 0 SGS sy SGS




Examples of use
NMpumepbl NCNOJSIb30OBaHNA

LIFTING JACK 0 EXPANDER

[o o]
I

\@
—/
- y
TIGHTENER POSITIONING
= OF THE SERVO VALVE
17 i

(o
[H\\(:o:) | oo
\

\
A\

WELDING CLAMP

VIBRATION

0 RESOURCE
XD
D @

WHEEL SUSPENSION
CLAMP

I

BIN HOPPER

FRICTION BRAKE
QAN H‘\

%\B

i
[/amw
=]
—=

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 3



THE BELLOWS SPRING TYPE IS INTENDED FOR ELASTIC BEARING OF MACHINES AND INSTRUMENTS, TO ELIMINATE
VIBRATIONS AND IMPACTS AND, ON THE CONTRARY, TO GENERATE VIBRATIONS AND LIFT OBJECTS. IN GENERAL,
IT IS ABLE TO CARRY OUT WORK BY A DEFINED FORCE ALONG A DEFINED TRAVEL - see basic technical parameters.

VLNOVCOVY TYP PRUZINY JE URCEN PRO PRUZNA ULOZENI STROJU A PRISTROJU, K ELIMINACI VIBRACI A RAZU,
NEBO NAOPAK PRO GENERACI VIBRACI A K ZVEDANI PREDMETU. OBECNE JE SCHOPEN VYKONAVAT PRACI
URCITOU SILOU PO URCITE DRAZE - viz z&kladni technické parametry.

MHEBMATWUYECKASA NMOABECKA NMEPBYHO HA3HAYEHHAS, 19 YNPYTOW OMOPbI MALH Y MIHCTPYMEHTOB,
LN YCTPAHEHWA BUBPALIIA 1 YOAPOB, HAOBOPOT NS FEHEPMPOBAHIA BUBPALIMIA M MOABEMA OBbEKTOB.
OHO BOOBLLE CMOCOBHO MCMOMHATD PABOTY OMPELENEHHOW CMOW YEPE3 OMPELENEHHYIO JOPOTY

- CMOTPU OCHOBHblE TeXHNYECKIE NapameTpbl.

AIR SPRINGS * VZDUCHOVE PRUZENI » CUIb®OHbI



Contents
Obsah
CopepxaHune

Air springs
6-42

Air Springs

Vzduchové pruZiny (vinovce)
CnnbGoHbI

Couplings
44 - 46

Rubber hoops for shaft couplings
PryZové obruce pro hridelové spojky
Pe3nHoBble 6aHAAXM Ans COEAUHUTENBHBIX MydT

Compensators
48 - 49

Rubber compensators
PryZové kompenzatory
Pe3nHoBble KoMneHcaTopbl

Railway pads
50-52

Elastic pads Design Line Vossloh
Prazcové podlozky typu Vossloh
Ynpyrble noactasku tuna VOSSLOH

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 5



A W

i,

-
|

— .0
e _ EBQRG \ '.ni.'@'ﬁiﬁ :'-

S el e ==

TH* e
»,The quality of air springing has been proved several times in the demanding Africa Eco Race

with the track length 6500 km, going across France, Morocco, West Sahara, Mauritania and
Senegal.“

- — A

»Kvalita vzduchového pruzeni jiz nékolikrat provéfena narocnym zavodem Africa Eco Race
s délkou traté 6500 km a vedouci pres Francii, Maroko, Zapadni Saharu, Mauritanii a Senegal.“

,KauecTBo nHeBMaTMueckol noaBeckM ObUI0O HEOAHOKPATHO WCMbITAHO Ha ClOXHelWeMm
pannumapadoHe «Appuka ko Peiic» ¢ Tpaccoin gnuHoi 6500 KM, NpoxoAsLleil N0 TeppuTOpUN
@panuun, Mapokko, 3anagHoi Caxapbl, MaBputaHumn u CeHerana.”

6  AIRSPRINGS * VZDUCHOVE PRUZENI * CUJTIb®OHbI




SPRINGS

PRUZINY

NMPYXUHDI

Air springs

Basics characteristics

Air Springs Design Line RUBENA
Air Springs Design Line DUNLOP

Vzduchové pruziny (vinovce)

Zakladni charakteristika

Produktova fada vinovcii typu RUBENA
Produktova fada vinovcii typu DUNLOP

MHeBMaTNyecKne NPYKnHbI (CUIbPOHDI)
OcHOBHaA XxapaKTepucTMKa

MHeBmaTnyeckue npyxunHbl Tuna RUBENA

MueBmaTnyeckne npyuHbl Tuna DUNLOP

10
23

10
23

10
23

AIR SPRINGS * VZDUCHOVE PRUZENI » CUNbOOHbI

7



8

Characteristics

Air springs are generally designed for many different applications where vibrations and shocks should be eliminated. Examples include suspensions
of bus, truck, troley-bus, tractor, train and tram seats and axles. Air springs are used for resilient mounting of machines and equipment generating
shocks and vibrations transmitted through the foundation into environment (e.g. textile looms, conveyers, power hammers, forging presses, etc.).
They are well suited to insulate laboratory instruments from vibrations. They can also be used to suspend truck trailers and car caravans. They are
in use in pneumatic jacks, e.g. in car repair services. A frequent application is also as a single acting linear pneumatic motor. In case of any atypic
application, we recommend to discuss the manufacturer first.

The application of air springs in vehicles offers many advantages, among others protection of both a vehicle and a load, reduction in tyre wear and
a lower fuel consumption. A loading characteristic can be easily modified by a change in air pressure inside the spring. This fact means more exten
sive applicability as compared to conventional screw springs, e.g. enables to hold stable optimum vehicle height and thus the correct function of
headlamps at different vehicle loads. Suspended seats enhance driving comfort in trucks and tractors. Negligible maintenance costs and a longer
service life compared to a conventional suspension give priority to the application of air springs.

A complete air spring is composed of a rubber-textile bellow, rings among convolutions, two clamping bead rings, a top and a lower covers in case
of a demountable set or secured covers in case of a non-demountable set. Covers and clamping rings are designed to be fixed to suspended and
non-suspended machine or vehicle parts and one of the covers (in most cases the top one) is provided with an air inlet connection. Detailed infor-
mation available from the Sales or Engineering departments.

Air springs are mounted individually or in panels in which the needed number of air springs is joined together - as per the suspended equipment
weight. Contact of the rubber-textile wall of the bellow with sharp and hot objects (scales, edges, exhausts, etc.) must be avoided.

Air springs can be inflated either individually or centrally. It is advisable to connect them to the compressed air source via a control valve.

Air spring bellows are applicable up to maximum operating pressure p__ as specified for each size of the bellow. This pressure is related to a static
height Hstat.

The rubber of which the bellow is made is not petroleum product resistant (oil, Diesel fuel, petrol, kerosene, etc.). If contaminated by any of these
substances, please wash it with warm water and wipe dry.

Standard bellows air springs are made of SBR (styrene-butadiene) rubber and are intended for service temperatures between -50 °C and +70 °C.
For special applications the bellows, especially Dunlop type bellows, can be manufactured from CIIR (chlorinated butyl) rubber for service temper
atures between -30 °C and +90 °C or from ECO (epichlorohydrine) rubber for service temperatures between -30 °C and +115 °C. For detailed
information contact Sales or Technical department.

TheH . and H__ values indicated in the charts are only informative and depend on the conditions of use.

Charakteristika

Vzduchové pruziny obecné jsou urceny pro mnoho rGznych poufziti vSude tam, kde je nutné eliminovat vznikajici vibrace a razy. Napfiklad se mize
jednat o odpruzeni sedacek a naprav autobus(, nakladnich vozidel, trolejbus, traktord, viakovych a tramvajovych vagon(i. Pouzivaji se pro pruzné
uloZeni stroju a zafizeni vzbuzuijicich razy a vibrace prenasené zakladem do okoli (napf. textilni stavy, dopravniky, buchary, kovaci lisy apod.). Jsou
vhodné pro izolace laboratornich pfistroju od vibraci. Lze je téZ pouZit pro odpruzeni nakladnich a obytnych pfivést za osobni automobily. PouZivaji
se v pneumatickych zvedéacich napf. v autoservisech. Velmi ¢asté pouZziti je také jako jednocinny pfimocary pneumaticky motor. Atypické pouziti
doporucujeme nejdfive projednat s vyrobcem.

Uziti vzduchovych pruzin na vozidlech poskytuje mnoho vyhod, mezi néz patfi Setfeni vozidla i nakladu, snizeni opotiebeni pneumatik a nizsi spo-
treba pohonnych hmot. Zménou tlaku vzduchu uvnitf pruziny Ize snadno ménit zatézovaci charakteristiku. Tato skutecnost poskytuje SirSi pouziti
oproti klasickym Sroubovym pruzindm, napf. umoZiuje zajistit stdlou optiméalni vysku vozidla a tim i spravnou funkci svétlometu pfi rizném zatizeni
vozidla. Odpruzené sedacky zvysuji jizdni komfort nakladnich vozidel a traktor(i. Nepatrné naklady na Gdrzbu a delSi Zivotnost nez ma obvyklé pru-
Zeni upfednostiuji pouZiti vzduchovych pruzin.

Kompletni vzduchova pruzina se sklada z pryZotextilniho vinovce, z krouzk( mezi vinami, z dvou upinacich patkovych krouzku, horniho a spodniho
vika v pfipadé rozebiratelného kompletu nebo zapertlovanych vik v pfipadé nerozebiratelného kompletu. Vika a upinaci kruhy jsou prizplisobeny
k pfipevnéni na odpruzenou a neodpruzenou ¢ast stroje nebo vozidla a jedno z vik (nejcastéji horni) je opatfeno hrdlem pro pfipojeni privodu vzdu
chu. Blizsi informace na prodejnim nebo technickém oddéleni.

Vzduchové pruziny se montuji jednotlivé nebo v panelech, na kterych je spojen potiebny pocet vzduchovych pruzin - dle hmotnosti ulozeného zaf
zeni. PryZotextilni sténa vinovce nesmi pfichazet do styku s ostrymi a Zhavymi predméty (okuje, hrany, vyfuky apod.).

Vzduchové pruZiny Ize hustit samostatné nebo centralné. Ke zdroji tlakového vzduchu je vhodné je pripojit pres regulacni ventil. Vinovce vzducho-
vych pruzin Ize pouzit do maximalniho provozniho tlaku p_, , uvedeného u kazdé dimenze. Tento tlak se vztahuje k statické vySce Hstat.

Pryz, ze které je vinovec vyroben, nevzdoruje ropnym produktdm (olej, nafta, benzin, petrolej, apod.). Pfi jeho znecisténi nékterou z téchto latek je
nutno vinovec omyt teplou vodou a otfit.

Standardni vinovcové pruziny jsou vyrabény z pryZe s SBR (styren-butadien) kauCukem a jsou uréeny do pracovnich teplot od -50 °C do +70 °C.
Pro specialni aplikace Ize vinovce zejména typu Dunlop vyrobit z pryze s CIIR (chlorbutyl) kaucukem pro pracovni teploty od -30 °C do +90 °C nebo
s ECO (epichlorhydrin) kaucukem pro pracovni teploty od -30 °C do +115 °C. Blizsi informace na prodejnim nebo technickém oddéleni.

Hodnoty H, aH__ ve schématech jsou pouze orientacni a zavisi na podminkach pouZiti.

AIR SPRINGS * VZDUCHOVE PRUZENI » CUIb®OHbI



Xapakrtepucrmka

MHeBMaTMYecKe NPyKUHbI BOOOLLE NpeAHa3HAYeHbl 1S MHOTUX Pa3NnyHbIX NCMONb30BaHWIA BClOAY TaM, FAe NPUXOAUTCA YCTPaHUTb BO3HUKaloLLMe BrUbpa-
LM 1 yaapbl. Hanprmep BO3MOXHO YKa3aTb MoApeccopuBaHime CUAEHWIA 11 MOCTOB, aBTOBYCOB, rPY30BbIX TPAHCMIOPTHbIX CPEACTB, TPOMNEOYCOB, TPAKTOPOB,
Moe3fHbIX 11 TPaMBalHbIX BaroHoB. OHY NPUMEHAIOTCA ANA yNpyro NoABeCKW MaLLUH 1 060py[0BaHUIA, BO30YKAalOLWMX yAapbl v BUOpaLy nepefaBaemMble OT
dyHaameHTa B oKpyxatoLLyto cpefy (Hanpumep TeKCTUNbHbIE MaLLMHbI, TPAHCMOPTEPbI, MONOTbI, KOBOYHbIE MPecchl 1 ToMy nofo6Hoe). OHK ABNATCA NpUrod-
HbIM 4191 M30AALMN TABOPATOPHbIX NPYHOPOBOT BUOPALIMIA. BO3MOXHO MX TOXKE NPUMEHATD 17 NOAPECCOPMBAHMSA FPY30BbIX U XKIbIX NPULENOB 3a NIETKOBbIE
aBTOMO6MAM. OHY NPUMEHSAIOTCA B MHEBMATNYECKIX NOAEMHUKAX HaNpyUMep B aBTOPEMOHTHbIX cepBricax. OueHb YacTbiM ABNAETCA TOXeE NPUMEHEHNE KaK Npst
MOJIMHENHBIN MHEBMATNYECKNIA ABUraTeNb NPOCTOro AeNCTBUA. [ipyroe (HETMNMYHOE) NpUMeHeHNe peKoMeHyeM NpesBapuTeNbHO 06CyaUTb C 3aBOJOM-13ro-
TOBUTENEM.

Mcnonb3oBaHue NHeBMaTUYECKIX NPYXKIH ANA TPaHCMOPTHBIX CPeACTB NMPEeAOCTaBNACT MHOTO BbIrOf, MEX/Y KOTOPble BXOAUT OXpaHa TPaHCMOPTHOTO CPefiCTBa
1 Harpy3Ki, CHUXKeHIe 13HOCa NOKPLILIOK 1 Gomee HU3KUIA pacxof MOTOPHbIX TOMMB. [TyTéM 13mMeHeHUA BO3AYLLIHOIO aBeHUA BHYTPY NPYXXMHbI BO3MOXHO
NErko U3MeHATb 3arpy30UHYI0 XapaKTEPUCTIKY. ITa AeACTBUTENBHOCTb NPefoCTaBAsAET bosee WNPOKOE 1CMOb30BaHIE N0 CPABHEHNIO C KNACCUYECKUMI BUH-
TOBBIMMW MPYXKUHAMM, HAaNpUMep MO3BONAET 06ecrneynTb NOCTOAHHYI0 OMTMANbHYIO BbICOTY TPAHCMOPTHOMO CPEACTBA 1 Tem ToXe 6e30wn60ouHy0 GyHKLMIO
pedneKTopoB Npu pa3nnyHoIi 3arpy3Ke TPaHCMOPTHOMO CpPeaCTBa. MoapeccopeHHble CUAeHNsA YBENNUMBAIOT NPoe3aHoe 61aroyCTPONCTBO MPy30BbIX TPaHC-
MOPTHbIX CPEACTB 1 TPAKTOPOB. Hebonbluve pacxofbl ANA yxoAa U [OMbLUE XKW3HECNOCOOHOCTb MO CPABHEHMIO C 0ObIKHOBEHHBIM MPY>KMHEHNEM BblBUTaoT
NpUMeHeHNe MHEBMATUYECKNX MPYXKUH.

KomnnekTHas nHeBMaTYeCKan Npy»mHa B COope COCTOUT 113 pe3nHOTKaHEBOrOo CUbOHa, 3 Konew, MeXy BOfHaMU, 13 ABYX 3aKpenuTesbHbIX OMOPHbIX KoneLl,
BEPXHEN 1 HUXKHEN KPbILLKW, B Clydae pa3bopHO-NEPeHOCHOro KOMMNeKTa, UM KPbILLOK, COeANHEHHBIX B GarnbLi, B Cllyuae Hepa3bopHOro KommniekTa. KpbiLku
(dnaHubl) 1 3aKpenuTesbHble KoMbL MPKUCNOCOBEHbI K YCTAaHOBKE Ha NOJPECCOPEHHYIO 11 HEMOAPECCOPEHHYIO YaCTb MALLVHbI UMK TPAHCMOPTHOO CPeACTBa
11 B OZHOIA 113 KPBILLOK (Hanbonee Yacto BepxHei) MMEeTCA ropfoBrHa AN NOAKIYeHNA nofaun Bo3ayxa. bonee nogpobHyto uHdopmaLmio nogaét Toprosoi
UV TEXHUYECKNIA OTLEN.

lMHeBMaTIYeCKNe NPY>KUHBI MOHTVPYIOTCA MO OAHON 1N B 610Kax (MaHensx), B KOTOPbIX COeAMHAETCA HEO XOAVNMOe KONNYECTBO MHEBMATUYECKNX MPYXKIH —
COrnacHo C BeCOM onupatoLLerocs 060pyaoBaHusa. PearHoTKaHeBas CTeHKa cunbdoHa He JOMKHABXOANTb B CONPUKOCHOBEHNE C OCTPbIMMI 1 FOPAYNMI Npeame-
Tamu (OKanMHa, 0CTPbIe Kpas, BbIMYCKI MOTOPA 11 TOMY NOAO6HOE).

MHeBMaTMYeCKMe NPYKUHbI BO3MOXHO HaKauMBaTb CAMOCTOATENBHO AW 113 LIEHTPAsIbHOTO MyNbTa. PeKOMeHAyeTCA NPUCOe[NHATL CUbGOHDI K UCTOUHUKY OKa
TOTO BO3/lyXa Yepe3 perynmpytoLmin BeHTWb.

CrnbhoHbl MHEBMATUYECKMX NPYKUH BO3MOXHO UCMOb30BaTh 10 MAKCMMaIIbHOTO paboyero AaBneHna p, NPpeACTaBNeHHOrOfIA OTAE/bHbIX TUMOB. IT0 AaB-
NeHMe OTHOCUTCA K CTaTIYeckol BbicoTe Hstat. Pe3nHa, 13 KoTopol cnbGOH U3rOTOBNEH, He ABNAETCA YCTOMUMBON K BO3AECTBUI HeGTenpomyKToB (Macso,
HedTb, 6eH3UH, KepocuH, 1 T.n.). [pu ero 3arpA3HeHNN TaKMK BeLLeCcTBaMU CUbGOH HEOOXOAMMO OMbITb TEMNOI BOAOI U BbITEPETb.

CTaHAapTHbIE MHEBMATMUECKME NPYKUHbI M3roTaBnmBatoTcs 13 SBR (cTupon-6yTaameH) kayuyKa 1 OHU NpeAHa3HaueHbl Ana pabounx Temnepatyp ot -50 °C go
+70 °C. inA cneymanbHbIX NpUMEHeHNIn MoXeT 6biTb 0cobeHHO Tna Dunlop npow3seaeHsi 13 ClIR (xnop-6yTun) kayuyka, insa paboumx temnepatyp ot -30 °C
10 +90 °Cvnu ¢ ECO (3nuxnopruppuH) Kayuykom, ana pabounx temnepatyp ot -30 °C go +115 °C.. lononHuTenbHyto MHbopmaLimio noayyute B OTAeNe NPOAaX

VNN TEXHUYECKOM oTaene.
3avenus H . uH_= & cxemax mosbko opueHmMuUposoYHbie U 3d8UCAm Om ycioguli UCnosb308aHUS.

AIR SPRINGS * VZDUCHOVE PRUZENI » CUNbOOHbI

9



Springs DESIGN LINE RUBENA

4x M6x1

TOP VIEW BOTTOM VIEW

85mm
55mm
115mm

Hstat
Hmin
Hmax

1/8 BSP

MAX 9140 / Sbar
AR INLET

' 155 — SPACE REQUIRED

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na pozadani moz-
no zmeénit na M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha Bxoge Bo3ayxa, No TpeboBaHMO, MOXKHO M3MeHNUTb Ha M10X1 1nn Ken3meHUTb MecTo

pacnonoXxeHuna exoaa.

CIEB seats in Karosa Renault and Karosa Iris buses. / Sedacka CIEB v autobusech Karosa Renault, resp. Karosa Iris Bus. /
MoppeccoprBaHve cupeHnn B aBtTobyce Karosa Renault n Karosa Iris Bus.

130x2

4x MBx1

TOP VIEW BOTTOM VIEW

180mm

140mm
100mm

Hstat
Hmin
Hmax

0N

b

AIR INLET

<1>MO
8130
MAX 8140 / Sbar

8155 — SPACE REQUIRED

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na pozadani moz-
no zménit na M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha Bxoae Bo3AyXa, N0 TpebOBaHWMIO, MOXXHO U3MeHUTb Ha M10X1 i e U3MeHUTb MecTo

pacnonoXxeHuna exoaa.

Rebuilding of axles in commercial motor vehicles. / Pfestavba naprav uZitkovych vozidel. / [na peKOHCTPYKLUM MOCTOB [E/OBbIX
TPaHCMOPTHbIX CPEACTB.

130x3

4x M6x1

=N
AU’\
(=}

2222277

O] _- \
\‘ N
l ..\\\-\\\ D TOP VIEW BOTTOM VIEW

240mm

Ex
e
|
e ¥ 7 X ¥ i
=I5
B
TN
o
= 1/8 BSP
= AR INLET

"\\\\—s\\\"

R e i

TR

\’//

MAX 6140 / Sbar
' 155 — SPACE REQUIRED

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na pozadani moz-
no zménit na M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha Bxoae Bo3AyXa, N0 TpebOBaHWMIO, MOXXHO U3MeHUTb Ha M10X1 i e U3MeHUTb MecTo

pacnonoXxeHuna exoaa.

10 AIRSPRINGS * VZDUCHOVE PRUZENI « CUNIbOOHbI



Air
Sprmgs DESIGN LINE RUBENA

CIEB seats in Karosa Renault and Karosa Iris buses. / Sedacka CIEB v autobusech Karosa Renault, resp. Karosa lIris Bus. /

1 o )
30 Seat MoppeccoprBaHyvie cupeHnn B aBtobyce Karosa Renault n Karosa Iris Bus.
‘ L M12x1,5
AR INLET / PIN AR TNLET
(5:1 DETAIL) —
M
=
00| —
3 i TOP VIEW BOTTOM VIEW
|
T T
|
|
926!
— g11h11
$12h11

PIN N~
(5:1 DETAIL) | _211h11

1,1H13

Set is fixed for the pin or combined supply of air. / Komplet fixovan za ¢ep resp. kombinovany privod vzduchu, zajistén pojistnymi krouzky.
/ KomnnekT Kpenutca 3a nanew, uim »xe KOMOUHNPOBaHHbIN NMOABOA BO3LYyXa, CTONOPUTCA CTOMOPHBIMU KOSbLIaMM.

170x1

4x MBx1,25 TOP VIEW BOTTOM VIEW

t=90mm
=60mm
=120mm

Hstat:
Hmin
Hmax

MAX @180 / 7bar

#195 — SPACE REQUIRED

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na pozadani moz-
no zmeénit na M10x1, pfip. zmeénit jeho umisténi. / Pe3bby Ha Bxoae Bo3ayxa, N0 TpebOBaHWMIO, MOXXHO U3MeHUTb Ha M10X1 nnu e U3MeHUTb MecTo

pacnonoXxeHuna exoaa.

170x1E

4x M8x1,25 TOP VIEW BOTTOM VIEW

135mm
60mm
155mm

Hstat
Hmin
Hmax

1/8 BSP
AR INLET

I
|
|
MAX 200 / 7bar
9215 — SPACE REQUIRED

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 11



Air
Sprlngs DESIGN LINE RUBENA

Rebuilding of axles in commercial motor vehicles. / Prestavba naprav uZitkovych vozidel. / [na peKOHCTPYKLUUN MOCTOB [E/OBbIX
TPaHCMOPTHbIX CPEACTB.

170x2

4x M8x1,25

TOP VIEW BOTTOM VIEW

205mm
195mm

145mm

85mm,Hmax:
90mm,Hmax:

Hstat

2PLY—Hmin
4PLY=Hmin

AR INLET

I
|
|
MAX 8180 / 7bar
| ‘ ¢195 — SPACE REQUIRED

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na pozadani moz-
no zménit na M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha Bxoae BO3ayXa, MO TpebOBaHWI0, MOXXHO U3MeHUTb Ha M10X1 nnu e U3MeHUTb MecTo
pacnonoxeHus BXoaa.

Rebuilding of axles in commercial motor vehicles. / Prestavba naprav uZitkovych vozidel. / [na peKOHCTPYKLUN MOCTOB [E/OBbIX
TPaHCMOPTHbIX CPEACTB.

170x3

BOTTOM VIEW

TOP VIEW

290mm
280mm

190mm

90mm, Hmax
95mm, Hmax
Il

Hstat

2PLY—=Hmin
4PLY=Hmin

MAX ¢180 / 7bar
#195 — SPACE REQUIRED

On request, the air inlet thread may be changed to M10x1; possibly, its placement may be changed. / Zavit na pfivodu vzduchu na pozadani moz-
no zménit na M10x1, pfip. zménit jeho umisténi. / Pe3bby Ha Bxoae BO3ayxa, N0 TPeb6OBaHMIO, MOXHO 13MeHUTb Ha M10XT unn e N3MeHUTb MecTo
pacnonoxeHns BXoaa.

12 AIRSPRINGS * VZDUCHOVE PRUZENI « CUNIbOOHDI



Air
Sprmgs DESIGN LINE RUBENA

190x3 semi assembly

M8x1,25

=
]

e TOP VIEW BOTTOM VIEW

~ Hstat=240mm
Hmin=140mm, Hmax=340mm

|
E T
9135
MAX 6200 / 7bar
9215 — SPACE REQUIRED

|
|
|
|
-
I
I

Suspension of front axle LIAZ trucks. / OdpruZeni pfedni napravy tahacll LIAZ. / MogpeccopriBaHne nepeaHero MocTa rpy3oBuik LIAZ.

220x2
MBx1,25
| TOP VIEW BOTTOM VIEW
= _ ‘
£
S
2
=D
"
§g o
N &
Il - od
| BE ™
5| E
I |0 n
| 11
Pole
£
=

$8940,2
9157
MAX 9250 / Boar

|
|
|
|
. 9265 — SPACE REQUIRED

AR INLET T

Lifting of truck's axles. / Zvedani néprav u navésu a souprav. / Mogbém MOCTOB rpy30BUKOB.
Cross ref.: ContiTech FD 200-19 % M8, Phoenix SP 2B 12 R-1. More using: Gigant 190130, Krone 550011095.

220x2E
M8x1,25
TOP VIEW BOTTOM VIEW
- .
£
S
S
N
L
x
8 5
Il - oo
1 EE ™
== B
i
I=
=
e

AIR INLET T

|
|
|
|
|
VAX 9255 / Bbar
|- 9270 — SPACE REQUIRED

Lifting of truck's axles. / Zvedani néprav u navésu a souprav. / Mogbém MOCTOB rpy30BUKOB.
Cross ref.: ContiTech FD 200-22, Firestone 20, 20CT, 20F

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 13



Air
Sprlngs DESIGN LINE RUBENA

220

TOP VIEW

157

i)
M8x1,25 <
L )
| Wy 17 3
-
| N -
| —
/‘/\
#B89£0,2 A

AR INLET

Lifting of truck's axles. / Zvedani néprav u navésu a souprav. / Moabém MocToB rpy30BuKoB. Cross ref.: ContiTech FD 200-19, Firestone 20, 20CT, 20F

280x2 SOR

@22H11

TOP VIEW BOTTOM VIEW
—r (1:2) (1:2)

225mm

82

165mm
105mm,Hmax

Hstat

4PLY—Hmin*)

. MBx1,25

f
$205+0,2
9232

MAX 8295 / 7bar

310 — SPACE REQUIRED

Suspension of axles SOR, Solbus, Kravtex buses. / OdpruZeni napravy autobusy SOR, Solbus, Kravtex. / MoapeccoprBaHe MOCTOB aBTOOYCOB
SOR, Solbus, Kravtex.

*) Given Hmin figure is only theoretical - this height is, in lower parts of the lift, influenced by the stop and the shape of a counterpiece
= the lower lid. Assembly is struck onto a pin on the upper lid.

*) Uvedena hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vySka ovlivnéna dorazem a tvarem protikusu

= spodniho vika. Komplet narazen na ¢ep na hornim viku.

*) Yka3zaHHOe 3HauyeHne Hmin ABNAETCA TONbKO TEOPETUYECKMM - B HVKHUX YACTAX XO[a 3Ta BbICOTa OrpaHuyeHa 0TOOMHMNKOM 1 GOpMON
KOHTPAETaNnM = HMXKHaA KpblLLKa. KomnnekT 3admKcnpoBaH Ha Landy BeEpXHEN KPbILIKN.

280x3 $280

250

e LA

NOTE: Mould cavity dimensions. / POZNAMKA: Rozméry dutiny formy. / 3SAMETKA: Pasmepbl nonoctv popmbl.

14 AIRSPRINGS * VZDUCHOVE PRUZENI « CUNIbOOHDI



Air
Springs

340x2

DESIGN LINE RUBENA

NOTE: Mould cavity dimensions. / POZNAMKA: Rozméry dutiny formy. / 3AMETKA: Pa3mepbl 1010CT! GOpMbI.

2340

| 8230 |

B —

162

a3 [

For rebuilding front axle of Tatra. / Uprava predni napravy Tatra. / PekoHcTpyKumMA NnepegHero mocta rpy3osuka Tatra.

340x3 Tatra 3t
[l

= —J k&
X
1l

el €

°F

qg in]
Doy

M16

cca $150
MAX 8345 / 7bar

370 — SPACE REQUIRED

TOP VIEW
(1:2)

BOTTOM VIEW
(1:2)

Suspension of axles Tatra 3 t. / Odpruzeni napravy Tatra 3 t. /
[opgpeccoprBaHme mocTa rpy3oBuka Tatra 3 t.

*) Given Hmin figure is only theoretical - this height is, in lower parts of the lift, influenced by the stop and the shape of a counterpiece

= the lower lid. Assembly is struck onto a pin on the upper lid.
*) Uvedena hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vySka ovlivnéna dorazem a tvarem protikusu

= spodniho vika. Komplet narazen na ¢ep na hornim viku.
¥) YKa3aHHoe 3HaueHre Hmin ABNAeTCA TONbKO TEOPETUYECKIM - B H/KHUX YaCTAX X044 3Ta BbICOTa OrpaH1YeHa 0TOOMHNKOM 1 pOopMoii

KOHTPAETaN = HYXKHas Kpbilwka. KomnnekT 3aduKkcnpoBaH Ha Landy BepxHe KPbILLKN.

340x3 Karosa screwing

=280mm
=180mm,Hmax=380mm

Hstat

4PLY—Hmin*

152

63

al

4:8

i@.ﬂ

[ e2oHn
cca 8170
MAX 9345 / 7bar
9370 — SPACE REQUIRED

BOTTOM VIEW
(1:2)

(1:2)

M12x1,5
AIR INLET

Suspension of axles in Karosa Renault and Karosa Iris buses. /
Odpruzeni napravy Karosa Renault, Karosa Iris Bus. /
MoppeccopmBaHve mocTa aBTobyca Karosa Renault, Karosa Iris Bus.

*) Given Hmin figure is only theoretical - this height is, in lower parts of the lift, influenced by the stop and the shape of a counterpiece

= the lower lid. Assembly is struck onto a pin on the upper lid.
*) Uvedena hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vySka ovlivnéna dorazem a tvarem protikusu

= spodniho vika. Komplet narazen na ¢ep na hornim viku.
¥) YKa3aHHoe 3HauyeHre Hmin ABNAeTCA TONbKO TEOPETUYECKIM - B H/KHIX YaCTAX XOAa 3Ta BbICOTa OrpaH1YeHa 0TO0MHNKOM 1 popMoii

KOHTPAETaN = HIKHasA Kpbilika. KomnnekT 3apuKkcnposaH Ha Landy BepxHe KpbILLKN.

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 15



Air
Sprlngs DESIGN LINE RUBENA

340x3 Liaz

o TOP VIEW BOTTOM VIEW
s = (1:2) (1:2)
w3
I e
e g =<
5=
8| E
Lo
ol
|7y
Tle
E
T
L
>
a
<
7
M 923
322H11
cca $170

MAX 8345 / 7bar
2370 — SPACE REQUIRED

Suspension of LIAZ. / Odpruzeni podvozku LIAZ valnik. / NogpeccopriBaHue Kapkaca rpy3osuika LIAZ.
Assembly is struck onto the pins on the lids. / Komplet narazen na Cepy na vikach. / KOMNeKT HacaKeHHbIN Ha LWTbIpy KPbLLekK.

340x3 Liaz truck

1 1

Mg 1 480 ccabO., |
Te = TOP VIEW BOTTOM VIEW
E - = (1:2) (1:2)
S Y
3 ==
&
£ g
5=
S| E
Lo
ol
@
T|e
E
T
L
i
[a )
<
T
N 923

4}_‘ $22H11
cca $170
MAX 9345 / 7bar
$370 — SPACE REQUIRED

Suspension of LIAZ truck. / Odpruzeni podvozku LIAZ tahac. / MNoppeccoprBaHye Kapkaca rpy3osuka LIAZ Tarau.

Assembly is struck onto a pin on the bottom lid. Upper lid is delivered separately - not mounted (6 M8 x 25 screws and relevant washers enclosed).
On request, a semi-assembly without the upper lid may be delivered (6 M8 x 25 screws and relevant washers enclosed).

Komplet naraZen na ¢ep na spodnim viku. Horni viko dodavano volné - nenamontovano (6 ks Sroubld M8 x 25 a pfislusnych podloZek piibalem).

Na pozadani mozno dodat jako polokomplet bez horniho vika (6 ks Sroubt M8 x 25 a pfisluSnych podlozek pribalem).

KomMnneKT HacaxeHHHbI Ha naneL, HAXKHeN KPbILWKW. BepXHAA KpbiluKa NOCTaBAAETCA B HEYCTaHOBIEHHOM COCTOAHUM (C KOMMIEKTOM NOCTaB-
nAeTcA 6 WT 60n1T0B M8X25 11 COOTBETCTBYIOLLYX LWAN).

16 AIRSPRINGS * VZDUCHOVE PRUZENI « CUIbOOHbI



Air
Sprmgs DESIGN LINE RUBENA

340x3 Karosa Recreo crimp

13
14
10x1
@

M10x1
AIR INLET

T e -
-~

o)

400mm

52

AR INLET ' '

300mm
200mm,Hmax

5
3

Hstat

4PLY—Hmin*)

| $22H11
cca #6150
MAX 0345 / 7bar

#370 — SPACE REQUIRED

N

£ E&

€

o

2

(s o
£ £ o) o = Suspension of axles in Karosa Renault and
] g Sl Karosa Iris buses / odpruZeni napravy Karosa
s ( & == Renault, Karosa Iris Bus./  [NoppeccopuBaHue
2/ MocTa aBTobyca Karosa Renault, Karosa Iris
TE 2 Bus

& 9 b

=

T

*) Given Hmin figure is only theoretical - this height is, in lower parts of the lift, influenced by the stop. Assembly is struck onto the pins on the lids. - pipe
height under the stop 152 mm, air inlet with an M10x1inner thread. - pipe height under the stop 152 mm, extended air inlet with an M10x1inner thread.
- pipe height under the stop 152 mm, extended air inlet with an M12x1.5 outer thread. - pipe height under the stop 163mm, 45° angle air inlet, with
an M16x1.5 inner thread. - pipe height under the stop 163 mm, extended air inlet with an M12x1.5 outer thread.

*) Uvedena hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vySka ovlivnéna dorazem. Komplet narazen na cepy na vikach. - vyska
trubky pod dorazem 152 mm, pfivod vzduchu s vnitinim zavitem M10x1. - vySka trubky pod dorazem 152 mm, prodlouzeny pfivod vzduchu s vnitfnim
zavitem M10x1. - vysSka trubky pod dorazem 152 mm, prodlouzeny pfivod vzduchu s vnéjSim zavitem M12x1,5. - vySka trubky pod dorazem 163 mm, pif
vod vzduchu pod Ghlem 45 °s vnitinim zavitem M16x1,5. - vySka trubky pod dorazem 163 mm, prodlouzeny pfivod vzduchu s vnéjsim zavitem M12x1,5.

¥) YkazaHHoe 3HauyeHne Hmin ABNAETCA TONbKO TEOPETUYECKMM - B HVPKHUX YacTAX XOfa 3Ta BbiCOTa OrpaHMuYMBaeTcA orpaHuuutenem. Komnnekrt
HACaXKEeHHbIN Ha LWTbIPY KPbILLEK. — BbICOTa TPYOKM Nog orpaHmumtenem 152 MM, BXOf BO3AyXa C BHYTpeHHel pe3bboi M10x1. - BbicoTa Tpy6KmM nop
orpaHuyuTenem 152 MM, YANMHEHHbIN BXOA BO3AyXa C BHyTPeHHel pe3bboit M10x1. — BbicoTa TPyOKYM nog orpaHuumtenem 152 MM, YASIMHEHHbIN BXOZ,
BO3AyXa C BHelLHel pe3bboit M12x1,5. — BbicoTa TPYOKM Nog orpaHuuntenem 163 MM, BXOA BO3zyxa nog yrnom 45° ¢ BHyTpeHHew pesbboin M16x1,5. -
BbICOTa TPYOKM Nop orpaHuumTenem 163mm, yAIMHEHHDI BXOA BO3[yXa C BHeLLHel pe3bboit M12x1,5.

AIR SPRINGS * VZDUCHOVE PRUZENI « CUNIbOOHbI 17



Air
Sprlngs DESIGN LINE RUBENA

350x2 NOTE: Mould cavity dimensions. / POZNAMKA: Rozméry dutiny formy. / 3AMETKA: Pa3mepbl 1010CT! GOpMbI.

350
4277
| 8236

205

350x3 NOTE: Mould cavity dimensions. / POZNAMKA: Rozméry dutiny formy. / 3AMETKA: Pa3mepbi o0CTh GOpMmbi.

$350
8277
| $236

290

18 AIRSPRINGS * VZDUCHOVE PRUZENI « CUNIbOOHbI



Air
Springs

DESIGN LINE RUBENA

380x2 NOTE: Mould cavity dimensions. / POZNAMKA: Rozméry dutiny formy. / 3AMETKA: Pa3mepbl 1010CT! GOpMbI.

2380

8272

8226

3

o

fa

175

Suspensions of Tatra chassis. / OdpruZeni Sasi Tatra. / MoapeccopuBaHue Kapkaca rpy3oBuiKa Tatra.

380x3 Tatra 4t

e
=
E
w0
o
M l—
Il =
x o0
2 =
€| E
E=
Ol €
Q| €
I NEEN
—|
o=
2s S
£
E
T
I
=
o
~
(=)
2
o
1 M16
cca #160

MAX 2395 / 7bar

$420 — SPACE REQUIRED

TOP VIEW BOTTOM VIEW
(1:2) 1:2

Suspensions of Tatra axles. / OdpruZeni Sasi Tatra. / [NogpeccopriBaHyie Kapkaca rpy3oBuKa Tatra.

*) Given Hmin fi gure is only theoretical - this height is, in lower parts of the lift, infl uenced by the stop. Console under the stop in three heights. The
assembly is set behind M16 screws in the lids. On request, a semi-assembly without lids may be delivered (30 M8 x 25 screws and relevant washers

enclosed).

*) Uvedena hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vySka ovlivnéna dorazem. Konzole pod dorazem ve tfech vyskach.
Komplet fixovan za Srouby M16 ve vikach. Na pozadani mozno dodat jako polokomplet bez vik (30 ks Sroubld M8 x 25 a pfislusnych podlozek pribalem).

*) Yka3aHHoe 3HauyeHre Hmin sBNsSeTCsa TONbKO TEOPETUUYECKUM — B HUXKHIIX YacTAX XOfa 3Ta BblICOTa OrpaHNYMBAETCA OrpaHnumTenem. KpoHLWTenHb nog
orpaHuyuTenem B Tpex ypoBHAX. KomnnekT 3adpukcmpoBaH 6ontamm M16 B Kpbilukax. [1o TpeboBaHMI0 BO3MOXHa NOCTaBKa B BuAe NosyKommneKTa 6e3
KpblLLEK (C nonykomnnektom noctasnsetca 30 wt 6on1oB M7 x 25 1 COOTBETCTBYIOLLYX LAIA6).

AIR SPRINGS * VZDUCHOVE PRUZENI » CUNbOOHbI

19



Air
Sprlngs DESIGN LINE RUBENA

410x1 NOTE: Mould cavity dimensions. / POZNAMKA: Rozméry dutiny formy. / 3AMETKA: Pa3mepbl 1010CT! GOpMbI.

3410
2310
9270

132

410x2 NOTE: Mould cavity dimensions. / POZNAMKA: Rozméry dutiny formy. / 3AMETKA: Pa3mepbl 1onocTv Gopmbi.

20 AIRSPRINGS * VZDUCHOVE PRUZENI * CUJIb®OHbI



AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 24




&

P ,

SWCAVAY, S e

.r..

i
r Tt
1

My

'

22 AIRSPRINGS * VZDUCHOVE PRUZENT * CUJTIb®OHbI




Air
Springs

MAX 80 / 8bar

“
23“x1
M6
o
~]|
E
E
S
N
Elk
‘ -k
i [
i 4 E
S
)
£
3
1 T
#3620,1
478
MAX ¢80 / 8bar
#95 — SPACE REQUIRED
“
23“x2
M6
5
~]|
3
E
S
et
§E
ol E
I I kS| é
| | B E
5
| | w©
g
‘ .
ES
!
#3620,1 ‘
878
MAX ¢80 / 8bar
#95 — SPACE REQUIRED
“
23%“x3
M6
0
~]|
E
13
53
=
—E
| £
o .
@ E
T E
I =
i o
| | £
£
!
93620,1
978

995 — SPACE REQUIRED

DESIGN LINE DUNLOP

Cross
Reference

ContiTech
FS 22-3

Firestone
WO01R584079

Springride
SP2906

Cross
Reference

ContiTech
FD 22-4

Firestone
WO01R584080

Springride
SP2907

Cross
Reference

ContiTech
FT 22-6

Firestone
WO01R584081

Springride
SP2910

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 23



Air
Springs

DESIGN LINE DUNLOP

Cross
VAT
47%%x1 Reference
ContiTech
TOP VIEW BOTTOM VIEW FS 44-5
M6 _
. g E|E E
| EEE .
| ‘ il Firestone
| EEIE WO01R584050
$9340,1
8110
WAX 9125 / 8bar Springride
#140 — SPACE REQUIRED SP2334
AIR INLET
More using: Lohr AO6030624
Cross
1/, 6
42" x 2 Reference
ContiTech
FD 44-10
- TOP VIEW BOTTOM VIEW
£
§ ¢ Firestone
| | 5E WO1R584051
| -
| i
e N7 E
Springride
SP2441
MAX 8125 / 8bar AR INLET
| ) 9140 — SPACE REQUIRED
Cross
1 n
4%2"x3 Reference
ContiTech
FT 44-15
M6 ‘
o TOP VIEW BOTTOM VIEW
:
ggw Firestone
2 WO01R584035
1e
\ | E
[ g
| =
AR INLET Springride
e SP2895
| 110
MAX 8125 / 8bar
| ) #140 — SPACE REQUIRED

24 AIRSPRINGS * VZDUCHOVE PRUZENI * CUJTb®OHbI



Air
Springs

5“x 1 Crimped

M8x1,25

t=84mm
50mm
105mm

Hstat:
Hmin
Hmax:

|
|
|
MAX ¢145 / 8bar
‘ @160 — SPACE REQUIRED
I

More using: VOLVO AH-0188

5“ x 2 Crimped

M8x1,25

" Hstat=140mm
=70mm, Hmax=170mm

Hmin

MAX 6145 / 8bar
¢160 — SPACE REQUIRED

5 x 3 Crimped

M8x1,25

230mm

=196mm

Hstat
90mm, Hmax

Hmin

MAX 6145 / 8bar
" #160 — SPACE REQUIRED

TOP VIEW BOTTOM VIEW

AR INLET 0

TOP VIEW BOTTOM VIEW

1/8 BSP
AR INLET T

TOP VIEW

BOTTOM VIEW

1/8 BSP
AIR INLET [

AIR SPRINGS * VZDUCHOVE PRUZENI » CUNbOOHbI

DESIGN LINE DUNLOP

Cross
Reference

ContiTech
FS 40-6 1/8 M8

Firestone

Springride

Cross
Reference

ContiTech
FD 40-10

Firestone

Springride

Cross
Reference

ContiTech

Firestone

Springride

25



Air
Springs

6“x 1 (Al)

M8

[
T sy

=85mm

z=r NHINENEN ~%a%

22 St NN Y

55mm

Hstat
Hmin
Hmax

110mm

1
|
|
$127+0,1
$152,4
MAX 8168 / 8bar
| ‘ 2180 — SPACE REQUIRED

6“x 2 (Al)

M8

L
'I/,'//III///III’,' ;WI/]A_II\"A [
HY s ll J
s :
12} 3
S| g
£ 8
BIE
| 1 E
\ | BlE
ol E
| I =&
| | L
e | N 3 N — =
rFan. U N Na) 5
Fad LN\ &R | E
$127£0,1
$152,4
MAX ¢168 / 8bar
| ' 9180 — SPACE REQUIRED
6“x 3 (Al)
M8 .
BT | ARG <t
oy s
Ie]
< E
- E
&
o0
o
£l X
&g
&)=
I =
=
| =8
Po|L
B
|
e, N Nai

$12740,1
$152,4
MAX 8168 / 8bar
#180 — SPACE REQUIRED

26 AIRSPRINGS * VZDUCHOVE PRUZENI * CUJTb®OHbI

DESIGN LINE DUNLOP

Cross
Reference

BOTTOM VIEW ContiTech
FS 76-7

Firestone
WO1R584078

Springride
SP2913

Cross
Reference

ContiTech
BOTTOM VIEW FD 76-14

Firestone
WO1R584070

Springride
SP2917

Cross
Reference

ContiTech

BOTTOM VIEW FT 7620

Firestone

Springride
SP2923



Air
Springs

6 (Al) added fixing holes (2 x M8, & 44,5)

M8

m
W7 wﬁ%

14,5

e N NN
gl T\
2127+0,1
#152,4

TOP VIEW BOTTOM VIEW

AIR INLET

“
6“ x 1 (Steel)
M10x1,5
= TOP VIEW BOTTOM VIEW
~
&
[ et
I £E8
332
‘ iy
i Slg¢g
PIEE
i
7 0
#12740,2 =
3
#15¢ £
MAX 9168 / 8bar e e
180 — SPACE REQUIRED
|
“
6 x 2 (Steel)
M10x1,5
-
S
. TOP VIEW BOTTOM VIEW
E
S
d
=0
g 8
BIE
I -
F
2R
E
=
0
2 1/2 BSP
#12740,2 ¥ AR INLET
6154 £
MAX $168 / 8bar
0180 — SPACE REQUIRED

DESIGN LINE DUNLOP

Cross
Reference

ContiTech

Firestone

Springride

Cross
Reference

ContiTech
FS 76-7

Firestone
WO01R584052

Springride
SP1536

Cross
Reference

ContiTech
FD 76-14

Firestone
WO01R584053

Springride
SP1482

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 27



Al

6“ x 3 (Steel)

1
Springs

M10x1,5

e
~
o~

Hstat=180mm
95mm, Hmax=278mm

£
£
B
=
9127+0,2 %
o
$154 €
MAX 8168 / 8bar
#180 — SPACE REQUIRED

6“ (Steel) eccentric (M12x1,5; R25; 25°)

6“ (Steel + Al

; 944 } M10x1,5
&
g
P
g =
£
M12x1,5
12mm deep
AR INLET
combination)
9154
$127+0,2 0
M10x1,5 3
g
;
)
! 's}
X
. N N N N = |
cAaR N N NG T
M8

127+0,1
$152,4

TOP VIEW

TOP VIEW

TOP VIEW

AR INLET

AIR INLET

BOTTOM VIEW

BOTTOM VIEW

DESIGN LINE DUNLOP

Cross
Reference

ContiTech
FT 76-20

Firestone
WO01R584095

Springride
SP2861

Cross
Reference

ContiTech

Firestone

Springride

Cross
Reference

ContiTech

Firestone
WO01R584084

Springride

The flanges can be even combined in reverse order (aluminium upper flanges and steel lower flanges). The aluminium central ring or the steel central
ring may be delivered.

Kombinovat pfiruby Ize i obracené (horni hlinikové a spodni ocelové). Stfedni kruh mozno dodat hlinikovy nebo ocelovy.

KprIJJKVI MO>HO 3aMeHUTb U HaO60pOT (BerHaﬂ ANOMVHIBAsA 1 HKHAA CTaslbHas). CpenHee KOJ1bLLO MOXKHO MOCTaBUTb K3 amMtOMUHUA N CTann.

28 AIRSPRINGS * VZDUCHOVE PRUZEN{ * CUJTIb®OHbI



A

r
Springs

MAX 8168 / 8bar

DESIGN LINE DUNLOP

. Cross
“
x 1 Crim
6 Crimped Reference
ContiTech
MBx1,25 TOP VIEW BOTTOM VIEW FS 70-7
it .
w == ElEE
I - e Fi
i ‘ iy irestone
| BlEs -
BEE
|
I
944,5%0,1 q A
o114 Springride
MAX 9168 / 8bar =
‘ ‘ %180 — SPACE REQUIRED AIR INLET
. Cross
6“ x 2 Crimped
p Reference
ContiTech
MBx1,25 FD 70-13
| J" | TOP VIEW BOTTOM VIEW
T £
= &
] e Firestone
‘ i £ W01-358-7025
| E £
| | & u%
| | E
? | ? €
‘ T
: Springride
$44,5£0,1 -
S114 AIR INLET
MAX 8168 / 8bar
‘ ‘ 8180 — SPACE REQUIRED
. Cross
6“ x 3 Crimped
p Reference
M8x1,25 ContiTech
\ ;
1 | i 1 TOP VIEW BOTTOM VIEW
=
| 1S
=
N
gl .
HE] Firestone
[ 2l ;
= E
| s
‘ 1
| | §
|
! AIR INLET X i
H‘ Springride
! i
©44,5£0,1
0114
| #180 — SPACE REQUIRED

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 29



Al

“
8“x1

M10x1,5

(i im0 i =]

i o

—i { o
i e €
1 | ElES
| | | ?‘ﬁ fregit]
i L
i I BlE3

= E
\ 2L
[ |
iy uay wo

©$155,6+0,2 e

9184 g

MAX 8230 / 8bar E

8240 — SPACE REQUIRED
(43
8“x2

M10x1,5

ffh h o
i [H L&
_ : z

5
I Q
I gu
3E
| ‘ LUE
i I S
| 0[5
| [ -
I ! I [
| é
T
[1]

155,620,2 9

#184 %

MAX 9230 / 8bar g

$240 — SPACE REQUIRED

More using: Fruehauf F 48054, Fruehauf M 80A04, Granning 15803, Lohr A 06030604, Samro H250-0188

8“x3

M10x1,5
) i FR .
~
[ S
|
i £
£
i S
3
9
I E|%
&
I &=
I Me
£|E
5o
| ! | =E
I i ! i
| i | £
| | -
|
\ I |
oy e s
#155,6%0,2 0
0184 %
MAX 8230 / 8bar E
9240 — SPACE REQUIRED

30 AIRSPRINGS * VZDUCHOVE PRUZENI * CUJTIb®OHbI

TOP VIEW

TOP VIEW

TOP VIEW

AIR INLET

AR INLET

AR INLET

BOTTOM VIEW

BOTTOM VIEW

BOTTOM VIEW

DESIGN LINE DUNLOP

Cross
Reference

ContiTech
FT 138-8

Firestone
WO01R584054

Springride
SP1537

Cross
Reference

ContiTech
FD 138-18 Y2 M10

Firestone
WO01R584055

Springride
SP1490

Cross
Reference

ContiTech
FT 138-26

Firestone
WO01R584056

Springride
SP2863



Air
Springs

8“ eccentric (M12x1,5; R35; 10°)

M10x1,5

"
N
[

max.15

8“x 1 Crimped

M8x1,25

M12x1,5
15mm deep

AIR INLET

=105mm

Hstat:

in=55mm
=150mm

Hmin
Hmax:

|
|
|

MAX 8230 / 8bar

: #8240 — SPACE REQUIRED

I

8“ x 2 Crimped

M8x1,25

=175mm

Hstat

80mm, Hmax=265mm L

Hmin

T
970+0,2 ‘

#135

MAX 8230 / 8bar

|
|
|
X 2240 — SPACE REQUIRED
I

More using: Gigant 196028

TOP VIEW

TOP VIEW

TOP VIEW

AR INLET

AR INLET

BOTTOM VIEW

BOTTOM VIEW

DESIGN LINE DUNLOP

Cross
Reference

ContiTech

Firestone

Springride

Cross
Reference

ContiTech
FS 120-7

Firestone

Springride
S08101

Cross
Reference

ContiTech
FD 120-17 32 M8

Firestone

Springride
S08201

Phoenix
SP2 B 07 R-2

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 34



Air
Springs

b H
8“ Crimped
TOP VIEW
#135
M8x1,25
e 25
==
([ ] N
[I—
#70+0,2
G 1/4
/4 BSP
AR INLET
“
9 Vs x 2
M10x1,5 TOP VIEW
4—'7<7
3 iy o) ]
L H 173 &
|
|
g€
i £
5€5
3le i3
| | bt
R
i i | W EE
i i | T
i [] [ ]7
y gy wy
168,340, ©
3197 3
MAX 8260 / 8bar £
! 9275 — SPACE REQUIRED
|

9 ¥4* eccentric (G1/4“; R22; 0°)

BOTTOM VIEW

AR INLET

TOP VIEW
- M10x1,5
2] I
s s M e =
| [l SN
[ —
|
==y
Ire)
= |
<
g
044
G1/4
/4 BSP
AR INLET

32 AIRSPRINGS * VZDUCHOVE PRUZENI * CUJTIb®OHbI

DESIGN LINE DUNLOP

Cross
Reference

ContiTech

Firestone

Springride

Cross
Reference

ContiTech
FD 209-21

Firestone

Springride
SP2703

Cross
Reference

ContiTech

Firestone

Springride



Air
Springs DESIGN LINE DUNLOP

. Cross
%“ x 1 Crim
9 Crimped Reference
TOP VIEW BOTTOM VIEW ContITeCh
MBx1,25 :
| 1 1 EEE 3 X
i o i 5EgS # Firestone
‘ T EATE: }
| (=B
5 E £
! ® ® ® ®
$8940,2
MAX ¢2¢;S7/ 8bar Springride
| ! $285 — SPACE REQUIRED 809101
3/4 BSP
AIR INLET
9 15“ x 2 Crimped Cross
Reference
ContiTech
TOP VIEW BOTTOM VIEW i
| |
= I I
. ! ! )
g s ] ] Firestone
= i i -
1 Ye " i i
] ;2? @ -0 @ -0
| : ‘ U
k= ) i
I
989%0,0 ] Springride
8157
MAX 8270 / 8bar 3/ 850 : S09202
| 9285 — SPACE REQUIRED AIR INLET
9 %% Crimped Cross
Reference
- ContiTech
8157
— Firestone
T 4N *
L= |
$89+0,2

Springride

AR INLET

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 33



Air
Springs DESIGN LINE DUNLOP

Cross
“
LU Reference
ContiTech
M10x1,5
—i- - FS 210-10
e £ g 2 TO(P V\)EW BOTTOM VIEW
i Y 1:2 :
| — HeE
i |l S8 Firestone
I e I E|g S WO1R584057
T 0 s
e [l] [ ]
ine e ine
w&w;g,z © P e Springride
o g
MAX 9280 / 8bar E AR INLET SP252
| ' $295 — SPACE REQUIRED
Cross
10“x 2
0 Reference
MDA ContiTech
e N ﬁ ,,,,,,,,,,,,,, Fo, o FD 210-22
e EE/EEE o iE
2g TO{’ V\)EW BOTTOM VIEW
| ”"" T 1:2. :
g g ER .
3 £ Firestone
‘ : Y &5 WO1R584058
| | (1) T
| | 2
B R g%
Lk ;g; i1 172 55 Springride
L%J $181£0,2 L%J 0 AR (N SP1538
: 5210 ‘ E
MAX 8280 / 8bar g
$295 — SPACE REQUIRED
Cross
1]
BRI Reference
M10x1,5 ContiTech
. ‘ e FT 210-32 %2 M10
C Hl Y
= : = TOP VIEW BOTTOM VIEW
: - % % (1:2) (1:2)
| o o
Og%% Firestone
] JEE WO01R584059
|
iy
! : 1 [EE
| i [ N 1/2 BSP
: : I 23 AR INLET
] L] I:I P H- Springride
! : : 2PLY SP1539
o) o)
m;%o,z 0 4PLY SP2603
9210 %
MAX 8280 / 8bar E
| ! $295 — SPACE REQUIRED

More using: Granning 15809, Samro H 250-0010, Weweler USN 510016 D

34 AIRSPRINGS * VZDUCHOVE PRUZENI * CUJTIb®OHbI



Air
Springs

10“ x 3 SOR

922H11

923 TOP VIEW BOTTOM VIEW
)| . T - (1:2) g
e E = M3,
3 AR Ajls
fum i Ler

98
414mm

=234mm
=114mm,Hmax:

Hstat:

M8x1,25

4PLY—Hrmin®

#174,840,2

8200

MAX @280 / Bbar
@295 — SPACE REQUIRED

More using: suspension of axles SOR, Solbus, Kravtex buses.

DESIGN LINE DUNLOP

Cross
Reference

ContiTech

Firestone

Springride

*) Given Hmin figure is only theoretical - this height is, in lower parts of the lift, influenced by the stop and the shape of a counterpiece = the lower lid.

Assembly is struck onto a pin on the upper lid.

*) Uvedena hodnota Hmin je pouze teoreticka - ve spodnich partiich zdvihu je tato vySka ovlivnéna dorazem a tvarem protikusu = spodniho vika. Komplet

narazen na ¢ep na hornim viku.

*) YKa3aHHoe 3HaueHue Hmin ABIAETCA TONbKO TEOPETUYECKNM - B HUMKHIX YaCTAX X0/ 3Ta BbICOTa OrpaHnyeHa OTOOMHNKOM 1 GOpMOii KOHTpaETanm =

HUKHaA KpbILLKa. KoMMneKT 3adrKcMpoBaH Ha Landy BepXHel KPbILWKU.

10“ eccentric (M16x1,5; R40; 45°)

TOP VIEW
(1:2)

M10x1,5

)
i Negm 2l e g
: : ) o~

max.15

M16x1,5
e AR INLET

10“ clamping ring with nuts (4x M10)

TOP VIEW
(1:2)

8210
#18140,2

4

More using; lifting pulley of pantograph.

Cross
Reference

ContiTech

Firestone
WO01R584086

Springride

Cross
Reference

ContiTech

Firestone

Springride

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 35



Air
Springs DESIGN LINE DUNLOP

Cross
13
126x1 Reference
ContiTech
M10x1,5 FS 412-10 Y2 M10
e ™, TOP VIEW BOTTOM VIEW
rﬁn o o (1:2) (1:2)
‘ NER e
: %% Firestone
I B g WO01R584060
m;f@ﬁo'z § Springride
VIAX 9330 / Bbar g L‘/RZ ‘ifg SP1540
| ' 345 — SPACE REQUIRED
Cross
12“x 2
Reference
1 ContiTech
; € FD 412-22 %> M10
E % TOP VIEW BOTTOM VIEW
§§ (1:2) 5
10
8 EE Firestone
| ElL WO1R584061
1/2 BSP ? Springride
@23;,286§O,2 E AIR INLET SP1541
MAX 6330 / 8bar g
#6345 — SPACE REQUIRED
More using: Gigant Lift, Lohr, Setra SG 175, MAN F 90, SAF axles
Cross
1]
12“ x 2E Reference
ContiTech
o M10x1,5. -
O, S S
ﬁ T NN ]
TOP VIEW BOTTOM VIEW
. (1:2) (1:2)
< :
E% Firestone
ﬁ::< WOLR584039
[
é 1/2 BSP
o~ AR INLET
%ﬁ L I L @F( Springride
wy Ly Ly -
$231,840,2 0
9260 %
MAX 8345 / Bbar €|
8370 — SPACE REQUIRED

36 AIRSPRINGS * VZDUCHOVE PRUZENI * CUJTb®OHbI



Air
Springs

12“x 3

ey M08
fm fn T =
C I i R
NI i TOP VEW BOTTOM VIEW
(1:2) (1:2)
EE
0 EE
al B8
28

—250mm
100mm Hmax=
120mm Hmax=

Hstat:

2PLY=Hmin;
4PLY—=Hmin;

1/2 BSP
AR INLET

) Tﬂ U r [ ﬁ?
L jueed) w
231,8+0,2
8260

MAX 8330 / 8bar
©345 — SPACE REQUIRED

La==

maox.15

More using: Weweler / Phoenix, Gigant 881204, Granning 15816

12“ eccentric (M16x1,5; R60; 45°)

TOP VIEW
1:2)
0| M10x1,5
= o g =
e A &
L
n 1
i= |
%
= 120 M16x1,5
AIR INLET
More using: Granning 15817, Lohr AO6030606
12“ x 1 Crimped
M8x1,25 TOP VIEW BOTTOM VIEW
(1:2) (1:2)
[ | EzE
i | SE5
[ T
i (- ; X
a=£
©228
MAX @330 / 8bar
‘
| 9345 — SPACE REQUIRED AR INLET

AIR SPRINGS * VZDUCHOVE PRUZENI » CUNbOOHbI

DESIGN LINE DUNLOP

Cross
Reference

ContiTech

FT 412-32 %> M10

Firestone
WO01R584062

Springride
2PLY SP1542
4PLY SP2525

Cross
Reference

ContiTech
FT 412-32 PO1

Firestone
12“x 2
WO1R584073
12“x 2E
WO01R584038
12“x 3
WO1R584037

Springride

Cross
Reference

ContiTech

Firestone

Springride
S$12100

37



Air
Springs

12“ x 2 Crimped

M8x1,25

£
£
:
g
i
E|
£ 8
S
I -
| Gl E
| B
! i
I §
g
#157,540,2
8228
MAX 8330 / Bbar
| ! 8345 — SPACE REQUIRED
13 H
12“ x 3 Crimped
M8x1,.
E
E
£
3
8
g%
g2
i
e
SlE
o
A
i
E
E

8157,
#2208
MAX 330 / 8bar

|
I
|
I
0,2
. $345 — SPACE REQUIRED
I

12“ Crimped

8228

M8x1,25

B,

73+0,3

7

TOP VIEW
(1:2)

BOTTOM VIEW
(1:2)

| —
L=

7340,3

7

fa

TOP VIEW
(1:2)

G 3/4
3/4 BSP
AR INLET

BOTTOM VIEW
(1:2)

\

\

Vi i

$157,5£0,2

38 AIRSPRINGS * VZDUCHOVE PRUZENI * CUJTIb®OHbI

o

AR INLET

G 3/4
3/4 BSP
AR INLET

TOP VIEW
(1:2)

DESIGN LINE DUNLOP

Cross
Reference

ContiTech

Firestone

Springride
S$12200

Cross
Reference

ContiTech

Firestone

Springride
S$12300

Cross
Reference

ContiTech

Firestone

Springride



Air
Springs DESIGN LINE DUNLOP

Cross
VAT
147%x1 Reference
" ContiTech
o[ M10x1,5 H— o TOP VIEW BOTTOM VIEW FS 614-13
- “ﬁ’ < gl (1:2) (1:2)
i
] 5|5 Firestone
] LT WO01R584063
HEE
] @ H @I
a rusy T o
9282,6+0,2 0 Springride
£311 e 1/2 BSP SP1543
MAX 8395 / 8bar £ AR INLET
_ $410 — SPACE REQUIRED _
More using: Weweler / Phoenix
Cross
VAT
L Reference
o ContiTech
. Wods o FD 614-26 %> M10
N Sk TOP VIEW BOTTOM VIEW
N:N Ez 1 (1:2) (1:2)
! o € :‘EE X
T 5 EE Firestone
] 2 et WO01R584064
! | 13 %
| | EE
L&J g;i ¢ 1/2 BSP Springride
$282,640,2 o AR DUEr SP 1556
8311 x|
MAX 9335 / 8bar €
‘ %410 — SPACE REQUIRED
More using: Gigant 881205, Granning 15821, Weweler USN 510010DX
Cross
L WA
14124 x 3 Reference
< ContiTech
M10x1,5 H— o FT 614-36 %2 M10
S iy
- N ] ' TOP VIEW BOTTOM VIEW
- EE (1:2) (1:2)
& EE
- i
g|g2 Firestone
§ e WO01R584065
P55
! =
i Z‘Z‘ 1/2 BSP
— & AN Springride
i D 2PLY SP1558
= & & 4PLY SP2526
$282,6+0,2 ©
8311 x|
MAX 9335 / 8bar g
9410 — SPACE REQUIRED

More using: Granning 15822, Granning 15824, Weweler USN 510018KD

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 39



Air
Springs DESIGN LINE DUNLOP

Note / Poznamka / 3ameTKa

Atypical versions are common for 14 %2 and 16“ and are illustrated behind 16“ dimension.
Atypicka provedeni jsou spolecna pro 14 %2 a 16“ a jsou zobrazena za dimenzi 16“.
HeTunoBble npoBeseHUA ABAAOTCA COBECTHbIMU AnsA 14 12" a 16" 1 oHM M306pakeHbl 3a pasmepom 16"

“« Cross
16“x 1 Reference
- ContiTech
M10x1,5 S TOP VIEW BOTTOM VIEW FS 816-15
— (1:2) (1:2)
i T
T g o
. 5|ES Firestone
g D “@ WO01R584066
ZEE
[T @I
sy w
9282,6+0,2 e Springride
8311 x| -
MAX 8430 / 8bar £ 1/2 BSP
$445 — SPACE REQUIRED AIR INLET
More using: Gigant Lift, Lohr, Setra SG 175, MAN F 90, SAF axles
“ Cross
16“ x 2 Reference
e ContiTech
M10x1,5 ol FD 816-30
4_#«
rﬁ’ H— TOP VIEW BOTTOM VIEW
TN @; (1:2) (1:2)
= EE
e £ ﬁgg Firestone
SlLiz WO01R584067
‘ LIEEL
| SILLE
I — @| i Q Springride
S i 1/2 BSP 2PLY SP1557
©$282,6+0,2 0 AIR INLET
9311 3 4PLY SP2536
MAX 9430 / 8bar g
9445 — SPACE REQUIRED
More using: Granning 15829, Weweler USN 510008DX
Cross
[
165x3 Reference
= ContiTech
MIOX1,5 _ N FT 816-40
i -
H . TOP VIEW BOTTOM VIEW
AR 8 di EE (1:2) (1:2)
e E&
- i _
€ E g Firestone
SlE WO1R584068
055
EE
— &% ARINGET Springride
I — @“ ;i 4PLY SP2141
iy o
9282,640,2 0
@311 x|
MAX 9430 / 8bar £

$445 — SPACE REQUIRED

40 AIRSPRINGS * VZDUCHOVE PRUZENI * CUJTb®OHbI



Air
Springs DESIGN LINE DUNLOP

) ) Cross
14 1,>“ & 16“ - 8 holes and screws Reference

ContiTech

M10x1,5 =
— TOP VIEW BOTTOM VIEW
(1:2) (1:2)

27,3

=3
BT
£l

L

Firestone

Wy l2eaz) jore 2]
$282,6+0,2
2311

Springride
AIR INLET =

nox.15

14 “ & 16“ eccentric (M22x1,5; R85; 45°) g;‘;:fen ce

ContiTech
TOP VIEW -

(1:2)

27,3

M10x1,5

15,5

Firestone
14 %2 x 2
WO01R584074

£
5

max.15

Springride
16“x 2
SPL313

Cross

14 v.“ & 16“ clamping ring with nuts (6xM8) + reinforced plates Reference

ContiTech
TOP VIEW BOTTOM VIEW -
(1:2) (1:2)

Firestone

Springride
RE -
9312

Reinforced lids can be also modified for the other variants of clamping rings 14 %" and 16 - contact us.
Zesilena vika Ize upravit i pro ostatni varianty upinacich kruht 14 %2“ a 16“ - kontaktujte nas.
YcuneHHble KpbILK/ MOXHO afanTUpoBaTh 1 Ha APYrie BapuaHTbl yKpenuTenbHbIX OMOpHbIX Koneew, 14 %21 16”- cBA3aTbCA C HaMK.

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 44



Air
Springs DESIGN LINE DUNLOP

Cross
21%“x 2
Reference
ContiTech
| )
M10x1,5 H*Q
éw 1% 7 7 e
€
a
=
gl
EllS
S e
S " ) C S NT
i S| €
1 | E
i &
! C
/i £ Firestone
| $470+0,2 | -
©498,5
MAX 8580 / 8bar
‘ ' 630 — SPACE REQUIRED

TOP VIEW BOTTOM VIEW
(1:2) :

Springride
SP1408

G 3/4
3/4 BSP
AR INLET

The manufacturer's on-demand kit. / Komplet u vyrobce na pozadani. / Komnnekt no Tpe6oBaHwio Npou3BoAUTENS.

42 AIRSPRINGS * VZDUCHOVE PRUZENI * CUJTb®OHbI



co U P LI N GS Rubber hoops for shaft couplings 44

PryZové obruce pro hridelové spojky 44
SPOJKY

Pe3nHoBble 6aHAaXMN ANA COeAUHNTENbHBIX MydT 44

CUEMJIEHUE

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 43



44 AIRSPRINGS * VZDUCHOVE PRUZENT * CUJTb®OHbI



Rubber
Couplings
Rubber hoops for shaft couplings

The rubber hoops are flexible parts of rubberized fabric transmitting the turning moment  ziate

in flexible shaft couplings. They ensure smooth running and eliminate effects of irregular ':':E!;:"’ v e T
running of the driving engine. The hoop dimensions are given by the mould. Their shapes

are shown in Figures 1, 2, and 3 (Model 1, 2, and 3) and their informative dimensions are —

given in the Table. The rubber hoops are made from the 31471 Rubber (PN 62 2000) and PRYIoAL CDaNE

the viscose fabric according to the TPD 209 Standard. They are intended for the use within e T e
THEIHAT NEE

the temperature range from O °C to +50 °C. If used at temperatures below zero and above WA =1 eane a1
+50 °C the technical parameters of the coupling change and the durability decreases. The = TMi¥MumHam ufne
rubber is not resistant against oils and crude-oil products. The use of the shaft couplings in

aggressive media is not recommended. If contaminated with aggressive chemicals the hoop

should be washed and wiped dry. The products are provided with the following markings: the

name of the manufacturer, the outside diameter (D), the model, the year and week of production, and the ID number of the moulder. The rubber
hoops are supplied unpacked, mostly in metal pallets or carefully loaded in bulk. The regulations of the CSN 63 0001 Standard for storage should
be observed. The hoops should be mounted according to the manufacturer’s directions. The manufacturer does not supplies metal parts of shaft
couplings. Informative data for designing the thrust disks and plates are given in TPD 209. An order should comprise the quantity ordered, the name
of product, the outside diameter (D), number of Technical Conditions and possibly other requirements (e.g. accompanying documentation, etc.).

PryZové obruce pro hfidelové spojky

PryZové obruce jsou pruzné pryZotextilni dily, které prenaseji toivy moment v pruznych hidelovych spojkach. Zajistuji klidny chod soustroji a elimk
nuji Gcinky nerovnomérnosti chodu motoru na pohanéném soustroji. Rozméry obruci jsou dany lisovaci formou. Jejich tvary znazornuje obr. - typ 1
az 3 a informativni zakladni rozméry uvadi tabulka. Pryzové obruce jsou vyrabény dle TPD 209 z pryze 31471 (dle PN 62 2000) a viskozové kordové
tkaniny. Jsou urceny pro teplotni rozmezi 0° az +50 °C. P¥i pouZziti obruce pod O °C a nad +50 °C dochazi ke zméné technickych parametr(i spojky
a snizeni zivotnosti obruce. PryZz nevzdoruje olejiim a jinym ropnym produktdm. PouZiti hiidelovych spojek v prostredi s agresivnimi chemickymi
latkami neni vhodné. PFi potfisnéni je nutné obruc¢ omyt a otfit do sucha. Vyrobky se znaci oznacenim vyrobce, vnéjSim primérem D, typem, rokem,
tydnem a Cislem lisovace. PryZové obruce se dodavaji nebalené, prevazné v kovovych paletach, prepravnich skiinich nebo volné lozené tak, aby se
zabréanilo jejich mechanickému nebo chemickému poskozeni, pfipadné deformaci. Pro skladovani pryZovych obruéi plati ustanoveni dle CSN 63
0001. Montaz a Gdrzbu nutno provadét dle pokynt vyrobce. Kovové dily hiidelovych spojek vyrobce pryzovych obruci nedodava. Informativni Gidaje
pro konstrukei pfitlacnych talif( a kotoucd pruznych spojek hridelovych jsou uvedeny v TPD 209. V objednavce se uvede pocet kusU, nazev vyrobku,
oznaceni obruce vnéjsSim primérem D, Cislo technickych podminek a piipadné jiné pozadavky (napf. priivodni dokumentace ap.).

Pe3nHoBble 6aHAaXM )1 COEAUHUTENbHBIX MybT

Pe3uHoBble GaHaax1 NpefACTaBnAioT cO60M ynpyriie pe3nHOTKaHeBbIe feTanu, NepeHoCALLMe KPYTALLMIA MOMEHT B YNPYriX COefUHNTENbHBIX MydTax. Obecre-
UMBAIOT PaBHOMEPHYIO PabOTy MaLLMHbI 11 YCTPAHAIOT BO3AEIICTBIE HEPaBHOMEPHOCTY XOfia ABUTaTENA Ha MPYBOAVNMOM B AABVXKEHE MexaHn3me. Pazmepbl 6aH-
[Jaxeii onpeaensoTca WwWramnom. Tunbl 1 Gopmbl GaHaKelt NpeacTaBeHbl Ha puc. T — 3, 1 CpaBoYHble OCHOBHbIE pa3Mepbl NpuBeAeHbI B TabnuLe. PesnHoBble
6aHaaxu n3rotaBnmMBaloTCA cornacHo ctaHgapty TPD 209 u3 pe3uHbl 31471 (no ctaHpapty npeanpuaTa PN 62 2000) v BUCKO3HOI KOopAoBoii TkaHu. MpeaHa-
3HaueHbl ANnA paboTbl B AnanasoHe Temnepatyp ot 0 °C go +50 °C. Mpu ncnonb3oBaHny 6aHAaxelt npy Temnepatypax Huxe 0 °C unu Bbiwe +50 °C npoucxognt
13MeHeHMe TEXHNYECKNX MapamMeTPOB MydTbl, U YMEHBLUAETCA CPOK CNyObl 6aHAaxa. Pe3rHa He ABNAETCA YCTONYMBON K BO3AEICTBIIO Macen 1 fpyrux Hedre-
NPOAYKTOB. Mcnonb3oBaHue coefnHUTENbHBIX My T B Cpefiax C arpeccBHbIMU XMMUYECKAMM BeLLeCTBaMU He pekomeHayeTca. Mpu 0bpbi3rvBaHuM 6aHaaxa
TaK/MW BeLLEeCTBaMU ero HeOOXOAMMO OMbITb 1 HACYXO BbITepeTb. /3aennsa 0603HaueHbl 3HaKoM 3aBOAAN3roTOBUTENS, HAPYKHbIM AnameTpom D, Tunom, rogom,
Hezleneil 1 HoMepPOM NPeCcoBLLMKA. Pe3nHOBble GaHAAXW NOCTaBNATCA 63 ynakoBKY, B OCHOBHOM Ha MeTaIMyeckix noAAoHaX, TPRHCMOPTHBIX ALLMKaX U1 B
CBOOOAHOM COCTOAHMM TaKUM 06pa3om, YTo6bl Bbiv NMPefoTBpaLLEHbI UX MEXaHNYECKIE NV XUMUYECKME NOBPEXAeHIA uin fedopmai. CknaguposaHue pe-
3MHOBBIX 6aHAAXel OCyLLeCTBAAETCA COMNACHO Yellckomy cTaHaapTy YCH 63 0001. MoHTaX 11 yXoA HeO6XOANMO NPOBOANTb C COBIOAEHNEM YKa3aHUIA 3aBOAN3-
roToBuTens. MeTananyeckume feTanu CoeamHUTENbHbIX MyGT 3aBOAM3rOTOBUTENb Pe3NHOBbIX 6aHfax el He nocTasnAet. CpaBoYHble JaHHbIE MO KOHCTPYKLMM
NPWKUMHBIX Waiib 1 nonymydT coeanHnTeNnbHbIX MydT NprBeaeHsl B craHgapTe TPD 209. B 3akase Hazjo NpUBECTY KONMYECTBO, Ha3BaHMe N3fenna, 0603Haye-
HVe 6aHaaXa C HapyXHbIM AameTpom D, Homep TEXHUYECKIX YCOBWIA 1, Npu HeoOXoAMMOCTH, Aipyrue TpeboBaHNA (Hanp. NpeablayLLYI0 JOKYMEHTaLMo N T. N.).

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 45



Rubber
Couplings

The hoops are radially divided (except for Typ 3). / Obruce jsou radialné délené (kromé obruce typ 3). / BaHaaXu MetoT paguanbHyo NMHUI0 pa3béma
(Kpome 6aHaaa TMna 3).

& Typl

Dimension / Rozméry / Pa3mepbl

Mt; - Rated turing moment transmittable by the coupling at permanent dead load / jmenovity tocivy moment, ktery miZe spojka prenaset
pfi trvalém neproménném zatizeni / HOMUHaNbHbIN KPYTALLMIA MOMEHT, KOTOPbIN NepeaéT MydTa Npy NOCTOAHHOI HeN3MeHAEMON Harpy3ke.

Mt, - Experimentally determined turning moment of the coupling at which a slip between the rubber hoop and the metal parts of the coupling
occurs / toCivy moment spojky stanoveny experimentalné, pii kterém z divodu koeficientu tieni dojde k vzajemnému prokluzu pryzové
obruce a kovovych Casti spojky / ycTaHOBNEHHBII KCMePUMEHTANIbHO KPYTALYMIA MOMEHT MydTbl, MPY KOTOPOM, U3-3a OFpaHNYeHIs
N0 K03GGULIMEHTY TPEHIA, NPOMN30MAET NPOCKaNb3biBaHMe 6aHAaXa U METANMYECKMX YacTel MydTbl.

Mtz - The highest permissible turning moment transmittable by the coupling at sudden, short term overload without damaging the hoop /
nejvyssi dovoleny tocivy moment, ktery muze spojka prenaset pii nahlém kratkodobém pretizeni, aniz by doslo k poskozeni obruce /
MaKCUManbHO ONYCTUMBIN KPYTALLMIA MOMEHT, KOTOPbIN MOXeT nepefaBaTb MypTa npu pe3koil KpaTKoBpeMeHHOI neperpyske 6e3
noBpexzaeHua 6aHaaxa.

n - maximum coupling speed / nejvyssi dovolené otacky spojky / MakcumanbHO 4ONYCTUMAsA YacToTa BpaLLeHna MydTbl.

max

Hoop - TYP 1 / OBRUC - TYP 1 / Pe3nHoBas 6aHpax - na 1

125 75 42 10 2,5 3 4 63 210 430 3000 0,2
160 90 56 13 3 4 6 100 130 750 3000 0,4
178 100 66 14 6 4 5 70 110 200 3000 0,5
200 122 68 16 2 4 10 250 425 1600 2500 0,8
250 160 70 17 5 5 8,5 630 1200 2500 2 000 1,1
315 204 86 22 8 10 8 1250 2900 4000 2 000 1,8
360 255 88 19 6 8 10 2500 4700 5350 1600 21
400 290 94 21 6 3 10 4000 7 500 13 160 1400 2,7
450 285 126 28 10 15 17,5 6 300 12 000 18 000 1250 5,8
490 280 142 26 4 3 20 2900 6200 8 700 1200 7,1
560 314 196 38 12 15 23 12 500 13 500 25 000 1 000 14
630 360 234 47 12 12 30 15 000 18 400 30 000 900 25
710 400 260 55 15 20 22 18 000 23 000 36 000 800 35
Hoop - TYP 2 / OBRUC - TYP 2 / Pe3uHoBas 6aHpax - Tvna 2

259 169 71 17 8 5 - 200 1000 830 2 000 1,1
Hoop - TYP 3 / OBRUC - TYP 3 / Pe3nHoBas 6aHpaax - Tuna 3

397 280 104 20 10 6 - 1070 4000 4 400 1600 2,5

46 AIRSPRINGS ¢ VZDUCHOVE PRUZENI » CUSTb®OHbI



RUBBER
COMPENSATORS

PRYZOVE _
KOMPENZATORY

PE3SVHOBDIE
KOMMEHCATOPDI

Rubber comensators 48

PryZové kompenzatory 48

Pe3unHoBble KOMNeHcaTopbI 48

RUBBER COMPENSATORS * PRYZOVE KOMPENZATORY * PE3VMIHOBbIE KOMIMEHCATOPbI 47



Rubber
Compensators

Purpose - Advantages

- to compensate axial, lateral and angular movements

- to noise and vibration absorption

- shaped bead with hard rubber reinforcement ensures safety against slipping out of compensator flanges at terminal positions under
conditions of alternating stress

Uréeni - Vyhody

- kompenzace axialnich, lateralnich a angularnich posuvt

- tlumeni hluénosti a vibraci

- tvarova patka s vyztuhou z tvrdé pryZe zajiStuje u kompenzatoru bezpecnost proti vysmeknuti z pfirub v maximalnich polohach
pfi cyklickém namahani

HasHaueHue - Mpeumywiecrsa

— KOMMeHCaLMsA aKcnanbHbIX, GOKOBbIX 1 YTIIOBbIX NepemeLLeHnii

— MyLUeHMe LyMa v raleHe Bubpaumii

— (acoHHbI BOPT C APMUPOBKOII M3 TBEPAOI Pe3nHbI NPeoXPaHAET KOMNEHCATOPbI NMPOTUB BbIAEPrMBaHNA U3 GNaHLEB B KpailHIX
MONOXKEHNAX NP LMKIMYECKOI Harpy3Ke

Types of Movements and compensationcapability
Druhy posuvii a kompenzacni schopnost
Tunbl nepemeLLeHUI N KOMNEHCALMOHHbIE CBONCTBA

axial / axialni / akcanbHoe 30 mm lateral / lateralni / 6okoBoe 20 mm  angular / angularni / yrnosoe +10 mm

Rubber bellows, mediums, pressures, temperatures, marking
PryZové viozky, media, teploty, znaceni
Tunbl nepemeLLeHUI 1 KOMNEHCALMOHHbIE CBONCTBA

supply water vapor up to +110 °C, outer influence of ozone no marking
1/ EPDM technicka a uzikova voda, vodni para do +110 °C, vnéjsi plisobeni 0zénu -40 110 bez oznaceni
TexHMyecKas Bofa, BoAaHom nap Ao +110 °C, BHelHOe BO3AeNCTBUE 030Ha 6e3 0603HayeHVs

dry or water containing subacid foodstuffs, alcohol double white
2/ CIIR pitna voda, suché nebo vodu obsahujici slabé kyselé potraviny, alkohol -25 70 dvojity bily pruh

NUTbEBas BOAA, CYXO€ Wi BOAY COLepXaLLyie CllaboKMCble MULLENPOAYKTI, afkorosb 6enas nonoca

yellow
3/ NBR oil product / ropné produkty / HedTenpogyKTbI -40 70 Zluty pruh

énTaa nonoca

DN 40 - 150 1,6/ 16 1,6/ 16 1,0/ 10 08/8
DN 200 - 500 1,0/ 10 1,0/ 10 1,0/ 10 08/8

48 RUBBER COMPENSATORS * PRYZOVE KOMPENZATORY * PE3VHOBbIE KOMIMEHCATOPbI



Rubber
Compensators

Dimensions / Rozméry / Pa3smepbl

110 130

40 150 16/ 16 3,8
50 165 125 130 1,6/ 16 52
65 185 145 130 1,6/ 16 6,5
80 200 160 130 1,6/ 16 7,6
100 220 180 130 16/ 16 8,7
125 250 210 130 16/ 16 9,9
150 285 240 130 1,6/ 16 11,6
200 340 295 130 1,0/ 10 153
250 895 350 130 1,0/ 10 17,4
300 445 400 200 1,0/ 10 34,0
350 505 460 200 1,0/ 10 47,5
400 565 5il5 200 1,0/ 10 41,5
500 670 620 200 1,0/ 10 575

RUBBER COMPENSATORS * PRYZOVE KOMPENZATORY « PE3VIHOBbIE KOMMEHCATOPbI 49



Elastic pads Design Line Vossloh 51

PADS

Prazcové podlozky typu Vossloh 51

PODLOZKY

Ynpyrbie nogcrasku tuna VOSSLOH 51

NOACTABKU

50 RAILWAY PADS * PRUZNE PODLOZKY « YTPYTbIE NMOACTABKM



Pads
ELASTIC PADS DESIGN LINE VOSSLOH

FOR BASE OF THE RAIL IN NON UNDERLAY FIXING

PRUZNE PODLOZKY TYPU VOSSLOH

POD PATU KOLEJNICE V BEZPODKLADNICOVEM UPEVNENI

YNPYIblE NOACTABKU TUMAVOSSLOH

NOA NOAOLLBY PENIbCA B YKPENJIEHWW BE3 MYTEBOM MNOAKNIAAKU

Determination of the product / Uréeni vyrobku / HazHaueHble usgenus

The elastic pads the rail are determinated to resilient seating of rails in non underlay fixing VOSSLOH.

Pryzové podlozky pod patu kolejnice jsou urceny pro pruzné ulozZeni Zeleznicnich kolejnic v bezpodkladnicovém upevnéni VOSSLOH.

Pe3nHOBbIe NOACTaBKM NOJ MOAOLUBY peNibca HasHaueHHbIe AN YNpYrol YCTaHOBKY Kene3HO[0POXHbIX PebCoB B yKpenneHun 6e3 nyTesoit nopknaaki VOSSLOH.

Structures’ realization / Konstrukcni provedeni / KOHCTpyKTUBHOe NcnosiHeHne

The pads in realization of Rubena respects requirements of loading chamber of those fixing. Structure of resilient part is original solving of
Rubena Company.

Podlozky v provedeni Rubena respektuji vnéjsim tvarem pozadavky na zastavbovy prostor daného ulozZeni, konstrukce funkéni pruzné ¢asti je
originalnim feSenim a.s. Rubena.

MopacTaBka B nposefeHnn Rubena (PybeHa) cobniopatoT HapyHoi ¢popmoil TpeboBaHNA [NA YCTaHOBOYHOTO NPOCTOPA AAHHOM YKNaAKW, KOHCTPYKUMA
GYHKLMOHaNbHO yrpyroii YacTu ABNAETCA OPUMHAbHBIM PELLEHNEM aKLIMOHePHOTO 06LecTBa PybeHa.

Material / Material / MaTtepuan

Pads are made from high quality compound developed according to severe requirements for product. Compound is long time resistant to weather
conditions without loss of elastic characteristics and electro insulation properties.

Podlozky jsou vyrobeny z vysoce kvalitni chloroprénové pryZové smési, vyvinuté specialné dle naroc¢nych pozadavku kladenych na vyrobek.
Smés je dlouhodobé odolna povétrnostnim podminkam bez ztraty pruznostni charakteristiky a elektro izolacnich viastnosti, témér nepodiéha
o0zonovému starnuti.

lMoACTaBKM 13rOTOB/EHBI U3 BbICOKOKAYECTBEHHOI X/TOPONPEHOBOI PE3NHOBOI CMECH, Pa3paboTaHHOMN CreLmanbHO COMMAcHO C HENEKUMI TPEBOBAHUAMM,
BO3M0KEHbIMI Ha n3zienne. CMecb JONroBPeMEHHO CTOIKaA NPOTIB aTMOCHEPHBIM YCIOBUAM 6e3 MoTepy YNpYroli XapakTepUCcTUKM U SNEKTPOU3ONALMOHHbIX
CBOWCTB, MOYTM HE NOAAABAETCA CTAPEHUIO BIMAHNEM 030Ha.

Properties of pads / Vlastnosti podlozky / CBoiicTBa noacTaBKu

Pads fulfill all reuired physical, mechanical and electro insulation properties according to prescription for resilient pads for base od the rail in
non underlay fixing issued. (for WU-7; 57045/96-S13).

Podlozky splnuji veskeré pozadované fyzikalné mechanickeé a elektro izolacni vlastnosti dle OTP pro pruzné podlozky pod patu kolejnice

v bezpodkladnicovém ulozeni. (pro WU-7; ¢.j. 57045/96 - S13).

lMoacTaBKM MCMONHAIOT BCe TpebyeMble GU3NKO-MeXaHMYECKIIe 1 S1eKTPON30MIALMOHHbIE CBOCTBA B cOOTBETCTBUM C OTP A1A ynpyrix NoACTaBoK

nog NofoLLBY penbca B ykpenneHuy 6e3 nytesoii nogknagku. (ana WU-7; Homep 57045/96 - S1).

Properties of pads were certified by indipendent examiners / Vlastnosti podlozek byly ovéfeny nezavislymi zkusebnami /
CBoICTBa NOACTaBOK NPOBEPUIN He3aBUCUMbIe NCNbiTaTeNbHble CTaHLuN

Commercial Railway Research in Prague - elasticity characteristics.

Komercni Zeleznicni vyzkum Praha - pruZnostni charakteristika.

Kommepueckoe ene3HopopoxHoe nccnepoBanue r. Mpara - ynpyras xapakrepuctuka.

EZU Prague - electro insulation properties.

EZU Praha - eletricko-izolaéni vlastnosti.

ZU r. Mpara - 3neKTpoN30NALNOHHbIE CBOICTBA.

Pads succesfully underwent examinations in laboratory of the firm VOSSLOH in Germany.
Podlozky Uspésné prosly narocnymi zkouskami ve zkusebni laboratofi firmy VOSSLOH v SRN.
lMoacTaBKM BbiAepXanu ycneluHo TpeboBaTenbHble TeCTbl B UCMblTatebHOM nabopatopuu dpupmbl VOSSLOH B SRN.

Properties of those pads were also examined in examining section of frequented railway track.

Provozni vlastnosti podloZek byly také Gspésné ovéreny uloZenim podloZek ve zkusebnim Gseku frekventované Zeleznicni trati.
Paboune cBoCTBa NOACTABOK Gblv TOXE YCMELIHO MPOBEPEHbI YKNALKOI MOACTABOK BO UCMbITATENIbHOM Y4YaCTKe OXMBIEHHON XXeNne3HOMN [LOPOri.

RAILWAY PADS * PRUZNE PODLOZKY « YTPYTbIE MOJCTABKA 51



Pads

Informative drawings of the pads / Informativni vykresy podloZek / IHbopmaLoHHbIe PUCYHKI NOLCTABOK.

NN "N N NN NN ‘
™~

. ZG1 =
@F \\\\\\\\\\ ﬁdu

C HCOHCOHC O

C HC HC HC D

C HC HC HTC D)

C HCOHCOHC O <

C HC HC HC D) —

C HC HC HTC D)

C HCHC HC O

C HCOHCOHC D
L )

2

AN AN AN AN ANAN AN N AN NN

N~
¢Sl
=1 M5 1
e — L2
(0))
4
ry. - - — - - s
L2 L2
~
%)
=

52 RAILWAY PADS * PRUZNE PODLOZKY « YTPYTbIE MOACTABKM



phr NPy DX XX IXIXIAIR 1 )
o ’. Wmmm 4 Wm wwo'o MMW
AW&MMWEW WWW Mm

o -.|x| SO0 E@XIXIXIXIMJZIXIECI Qo

o R KO 0 MO O

| e \
&Mﬂrqume Bw6pa|.|m‘l| n yna'roa, perynvl _BaHme
~#+ aBTOMaTU3aLuA 05

: " *?“ ’h"mkm*paaenbl Ha Texoﬁcnywsauwe

n AJ'II/ITGJ'IbeIIII CPOK CJ'IY)KGbI‘

AIR SPRINGS * VZDUCHOVE PRUZENI « CUIIbOOHbI 53



Advantages of application in vehicles:

* saves both vehicles and load

e reduces tyre wear

* reduces fuel consumption

* increases driving comfort of trucks
and tractors

MpeumylwecTBa ncnonb3oBaHUA B aBToMo6Unax:
+ OXpaHa aBTOMOOUNA 1 rpy3a
* CHUPKEHUeE N3HOCA LWUH

* JKOHOMUA TONMJNINBa

Vyhody uziti ve vozidlech:

« Setii vozidla i naklad

* redukuje opotiebeni pneumatik

* snizuje spotfebu pohonnych hmot

* zvysuiji jizdni komfort nakladnich
vozidel a traktoru

* NOBbILEHVEe KOM$OpTa BOXKAEHMSA rpy30BbIX aBTOMOOUEN U TPAaKTOPOB

AIR SPRINGS * VZDUCHOVE PRUZENI » CUIb®OHbI



notes * poznamky ¢ npumeyaHus




WWW.RUBENA.EU

IS0-9001 1S0-14001 ISO/TS-16949

Rubenag, s.r.o
Air Springs sales department, VInovce vzduchového pruzeni
Ceskych bratii 338, 547 36 Nachod, Czech republic, E-shop: www.eshop.rubena.cz
Phone: +420 491 447 410, +420 491 447 521, E-mail: avs@rubena.com



